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NEW QUESTION 1
Which command enables a router to become a DHCP client?

A. ip address dhcp
B. ip helper-address
C. ip dhcp pool

D. ip dhcp client

Answer: A

NEW QUESTION 2
Which option about JSON is true?

A. uses predefined tags or angle brackets () to delimit markup text
B. used to describe structured data that includes arrays

C. used for storing information

D. similar to HTML, it is more verbose than XML

Answer: B

NEW QUESTION 3
Which set of action satisfy the requirement for multifactor authentication?

A. The user swipes a key fob, then clicks through an email link

B. The user enters a user name and password, and then clicks a notification in an authentication app on a mobile device
C. The user enters a PIN into an RSA token, and then enters the displayed RSA key on a login screen

D. The user enters a user name and password and then re-enters the credentials on a second screen

Answer: A

NEW QUESTION 4
Which two capacities of Cisco DNA Center make it more extensible? (Choose two)

A. adapters that support all families of Cisco IOS software

B. SDKs that support interaction with third-party network equipment

C. customized versions for small, medium, and large enterprises

D. REST APIs that allow for external applications to interact natively with Cisco DNA Center
E. modular design that is upgradable as needed

Answer: BD

NEW QUESTION 5

An email user has been lured into clicking a link in an email sent by their company's security organization. The webpage that opens reports that it was safe but the

link could have contained malicious code. Which type of security program is in place?
A. Physical access control

B. Social engineering attack

C. brute force attack

D. user awareness

Answer: B

NEW QUESTION 6

A. Mastered
B. Not Mastered
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Answer: A

Explanation:

NEW QUESTION 7
Which two must be met before SSH can operate normally on a Cisco 10S switch? (Choose two)

A. The switch must be running a k9 (crypto) 10S image

B. The Ip domain-name command must be configured on the switch
C. IP routing must be enabled on the switch

D. A console password must be configured on the switch

E. Telnet must be disabled on the switch

Answer: BC

NEW QUESTION 8
Which type of address is the public IP address of a NAT device?

. outside global
. outsdwde local
. inside global

. insride local

. outside public
. inside public

TmooOm>

Answer: C

NEW QUESTION 9
Refer to the exhibit.

ip arp inspaction vianm 2

intarface fastatharnet 0/1
switchport mods access
switchpart access vian 2

What is the effect of this configuration?

A. The switch port interface trust state becomes untrusted

B. The switch port remains administratively down until the interface is connected to another switch
C. Dynamic ARP inspection is disabled because the ARP ACL is missing

D. The switch port remains down until it is configured to trust or untrust incoming packets

Answer: A

NEW QUESTION 10

A frame that enters a switch fails the Frame Check Sequence. Which two interface counters are incremented? (Choose two)
A. runts

B. giants

C. frame
D. CRC
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E. input errors

Answer: DE

NEW QUESTION 10
Refer to the exhibit.

Arlantagpesnt T

Enter configuration commands, one per line. End with CNTL/Z.
Atlanta (config) #aaa new-model

Arlanta (config) fass anthenrication login defanlt local
Atlanta (config) #line vty 0 4

Atlanta(config-line)#login authentication default

Arlanta (config-line) faxit

Atlanta (config) fusername ciscoadmin password adminadminll)
Atlanta (config) fusernane ciscoadnin privilege 13

Arlants (canfig) fanabls passwerd clscslldl

Atlanta (config) fenable sscret testingllld4

Atlanta (config) fand

Which password must an engineer use to enter the enable mode?
A. adminadmin123

B. default

C. testing 1234

D. cisco123

Answer: C

NEW QUESTION 11

Which configuration is needed to generate an RSA key for SSH on a router?

A. Configure the version of SSH
B. Configure VTY access.

C. Create a user with a password.
D. Assign a DNS domain name

Answer: B

NEW QUESTION 12

An engineer must configure a/30 subnet between two routers. Which usable IP address and subnet mask combination meets this criteria?

interface «0/0
description to HQ-AJ37T1:10875
ip address 172.16.1.4 255.255.255.248

interface «0/0
description to HQ-AJ371:10975
ip address 10.2.1.3 255.255.2565.252

interface 0/0
description to HQ-A371:10875
ip address 192.168.1.1 255.255.255.248

interface &0/0
description to HQ-A371:10875
ip address 209.165.201.2 255.255.255.252

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 13
What is a benefit of using a Cisco Wireless LAN Controller?

A. Central AP management requires more complex configurations
B. Unique SSIDs cannot use the same authentication method

C. It supports autonomous and lightweight APs

D. It eliminates the need to configure each access point individually

Answer: D

NEW QUESTION 16
Which two encoding methods are supported by REST APIs? (Choose two)

A. YAML
B. JSON
C. EBCDIC
D. SGML
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E. XML

Answer: AE

NEW QUESTION 21
What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two)

A. when the sending device waits 15 seconds before sending the frame again
B. when the cable length limits are exceeded

C. when one side of the connection is configured for half-duplex

D. when Carner Sense Multiple Access/Collision Detection is used

E. when a collision occurs after the 32nd byte of a frame has been transmitted

Answer: CE

NEW QUESTION 23
Drag and drop the network protocols from the left onto the correct transport services on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 24
Refer to the exhibit.

R2#show ip nat translations

Pro Inside global Inside local Outside local Outside global
tep 172.23.104.3:43268 10.4.4.4:43268 172.23.103.10:23 172.23.103.10:23
tep 172.23.104.4:45507 10.4.4.5:45507 172.23.103.10:80 172.23.103.10:80

An engineer configured NAT translations and has verified that the configuration is correct. Which IP address is the source IP?
A.10.4.4.4

B.10.4.4.5

C.172.23.103.10

D. 172.23.104.4

Answer: C

NEW QUESTION 27
Refer to the exhibit.
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Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (ID)10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length O

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor count is 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)

The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 30

Which QoS Profile is selected in the GUI when configuring a voice over WLAN deployment?
A. Bronze

B. Platinum

C. Silver

D. Gold

Answer: B

NEW QUESTION 35
Refer to the exhibit.
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R2#&show ip route

Grrt-".‘.&r' of last re<ort is not set

10.0.0.0/8 is variably subnetted, 3 subnets, 3 masks

' 10.0/30 is directly connected

10.10.13.0/25 is directly connected, Vian20
13.144/28 is directly connected. Vian40

Rig<how

Gateway of last resornt

p route

5 NOL sel

 faBelala

10.0.0.0/8 is variably subnertted, 4 subnets, 3 masks

C 10.10.10.0/30 is directly connected, FastEthernet0/1

O 10.10.13.0/25 [110/6576] via 10.10.10.1, 01:37:03

C 10.10.10.16/20 is directly connected, FastEthernat(/24 |
O 10.10.13.144/28 [110/110] via 10.10.10.1, 01:37:03

R1i#sh run
router ospf 1

-
Fragr®ar 4 4 9 9 4
ouier-1g 1.1.1.1

og-adjacency-changes

aUuto-Cost reference

e-bandwiath 10000
network 10.10.10.2 0.0.0.0 area 0

default-information originate

An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from
the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/25?

A. Traffic to 10.10.13.0.25 is load balanced out of multiple interfaces

B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface Gi0/1.

C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D

NEW QUESTION 39
Which statement identifies the functionality of virtual machines?

A. Virtualized servers run most efficiently when they are physically connected to a switch that is separate from the hypervisor

B. The hypervisor can virtualize physical components including CP
C. memory, and storage

D. Each hypervisor can support a single virtual machine and a single software switch
E. The hypervisor communicates on Layer 3 without the need for additional resources

Answer: D

NEW QUESTION 40
Refer to the exhibit.
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T b 'r—r -
VLAN 20

Switch A

..l_" LTIV e
— o

VLAN 10

Web Server

IP address
10 30 0 100724

Switch B

Int VLAN 10 —p address 10 10 0 0724
Int VLAN 20 - ip address 10 20 0024
Int VLAN 30 - ip address 10.30 0024

A network engineer must block access for all computers on VLAN 20 to the web server via HTTP All other computers must be able to access the web server

Which configuration when applied to switch A accomplishes this task?

config t

ip acocess-list extended wwwblock
deny tcp any host 10.30.0.100 eg 80
int wvlan 10

ip access-group wWwwWwwblock in

config t

ip acoess-list extended wwwblock
deny tcp any host 10.30.0.100 eg 80
permit ip any any

int vlan 20

ip acoess-group wwwblock in

config t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eg 80
int vlan 30

ip access—-group wWwwwblock in

config t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eq 80
int wvlan 20

ip access-group wwwblock in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 44

A user configured OSPF in a single area between two routers A serial interface connecting R1 and R2 is running encapsulation PPP By default which OSPF
network type is seen on this interface when the user types show ip ospf interface on R1 or R2?

A. port-to-multipoint
B. broadcast

C. point-to-point

D. nonbroadcast

Answer: C
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NEW QUESTION 48
An organization has decided to start using cloud-provided services. Which cloud service allows the organization to install its own operating system on a virtual
machine?

A. platform-as-a-service
B. software-as-a-service
C. network-as-a-service
D. infrastructure-as-a-service

Answer: D

NEW QUESTION 50
Refer to Exhibit.

_ Se0/0/1 2013 /126 Se0/0/1 .
G "-' ) —T - 9
LY 3 s
Alarta + Se0/0/0 Se0/00 / [::Jafm‘"“ '

Lo1

ez Static route to Lo1 on Atlanta via Se(/0/1
Defaut Rouwte /0 wa SeQ0)/1 '

’, 196
Sciiies Configured routers IPve addresses
Atianta

Senal 000/0 . 2012.1/126

2023 /126 Senal 0/0/1 . 20131126

Loopback1 2000:1/128

€000 2 5001011 hewone

Fi Senal 000 - 2012-2/126

oenal 001 - 202321126

New-York Loopback2 2000 2/128

Lo2 - Washington
Senal 00/0 ' 2023 3126

- i ™ - - -
Senal 00/1 - 20133126

Loopback3 2000 3/128

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta
goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::1 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 54
Refer to the exhibit.
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Router#

Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, | - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID

10.1.1.2 Gig37/3 176 RI CPT600 Gig36/41
10.1.1.2 Gig37/1 174 RI CPT 600 Gig36/43
10.1.1.2 Gig36/41 134 RI CPT600 Gig37/3
10.1.1.2 Gig36/43 134 RI CPT600 Gig37/1
10.1.1.2 Ten3/2 132 RI CPT600 Ten 4/2

10.1.1.2 Ten4/2 174 RI CPT600 Ten 3/2

Which command provides this output?

A. show ip route

B. show ip interface
C. show interface

D. show cdp neighbor

Answer: D
NEW QUESTION 56
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.
B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers

synchronize configurations to provide consistent packet forwarding
D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 59
Which 802.11 frame type is association response?

A. management
B. protected frame
C. control

D. action

Answer: B

NEW QUESTION 60
Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: DE

NEW QUESTION 65

Which result occurs when PortFast is enabled on an interface that is connected to another switch?
A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down

D. After spanning tree converges PortFast shuts down any port that receives BPDUSs.

Answer: A
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NEW QUESTION 67
What makes Cisco DNA Center different from traditional network management applications and their management of networks?

A. It only supports auto-discovery of network elements in a greenfield deployment.

B. It modular design allows someone to implement different versions to meet the specific needs of an organization
C. IT abstracts policy from the actual device configuration

D. It does not support high availability of management functions when operating in cluster mode

Answer: A

NEW QUESTION 70
Drag and drop the descriptions of file-transfer protocols from the left onto the correct protocols on the right.
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NEW QUESTION 71
Refer to the exhibit.
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What does router R1 use as its OSPF router-ID?

A.10.10.1.10
B. 10.10.10.20
C.172.16.15.10
D. 192.168.0.1

Answer: B

NEW QUESTION 73
Drag and drop the WLAN components from the left onto the correct descriptions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
5:1
1:2
2:4
4:3
35

NEW QUESTION 75
An engineer must configure a WLAN using the strongest encryption type for WPA2- PSK. Which cipher fulfills the configuration requirement?

A. WEP
B. RC4
C. AES
D. TKIP

Answer: D

NEW QUESTION 80
When configuring a WLAN with WPA2 PSK in the Cisco Wireless LAN Controller GUI, which two formats are available to select? (Choose two)

A. ASCII
B. base64
C. binary
D. decimal
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E. hexadecimal

Answer: AE

NEW QUESTION 85
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NEW QUESTION 1
Which command enables a router to become a DHCP client?

A. ip address dhcp
B. ip helper-address
C. ip dhcp pool

D. ip dhcp client

Answer: A

NEW QUESTION 2
Which option about JSON is true?

A. uses predefined tags or angle brackets () to delimit markup text
B. used to describe structured data that includes arrays

C. used for storing information

D. similar to HTML, it is more verbose than XML

Answer: B

NEW QUESTION 3
Which set of action satisfy the requirement for multifactor authentication?

A. The user swipes a key fob, then clicks through an email link

B. The user enters a user name and password, and then clicks a notification in an authentication app on a mobile device
C. The user enters a PIN into an RSA token, and then enters the displayed RSA key on a login screen

D. The user enters a user name and password and then re-enters the credentials on a second screen

Answer: A

NEW QUESTION 4
Which two capacities of Cisco DNA Center make it more extensible? (Choose two)

A. adapters that support all families of Cisco IOS software

B. SDKs that support interaction with third-party network equipment

C. customized versions for small, medium, and large enterprises

D. REST APIs that allow for external applications to interact natively with Cisco DNA Center
E. modular design that is upgradable as needed

Answer: BD

NEW QUESTION 5

An email user has been lured into clicking a link in an email sent by their company's security organization. The webpage that opens reports that it was safe but the

link could have contained malicious code. Which type of security program is in place?
A. Physical access control

B. Social engineering attack

C. brute force attack

D. user awareness

Answer: B

NEW QUESTION 6

A. Mastered
B. Not Mastered
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Answer: A

Explanation:

NEW QUESTION 7
Which two must be met before SSH can operate normally on a Cisco 10S switch? (Choose two)

A. The switch must be running a k9 (crypto) 10S image

B. The Ip domain-name command must be configured on the switch
C. IP routing must be enabled on the switch

D. A console password must be configured on the switch

E. Telnet must be disabled on the switch

Answer: BC

NEW QUESTION 8
Which type of address is the public IP address of a NAT device?

. outside global
. outsdwde local
. inside global

. insride local

. outside public
. inside public

TmooOm>

Answer: C

NEW QUESTION 9
Refer to the exhibit.

ip arp inspaction vianm 2

intarface fastatharnet 0/1
switchport mods access
switchpart access vian 2

What is the effect of this configuration?

A. The switch port interface trust state becomes untrusted

B. The switch port remains administratively down until the interface is connected to another switch
C. Dynamic ARP inspection is disabled because the ARP ACL is missing

D. The switch port remains down until it is configured to trust or untrust incoming packets

Answer: A

NEW QUESTION 10

A frame that enters a switch fails the Frame Check Sequence. Which two interface counters are incremented? (Choose two)
A. runts

B. giants

C. frame
D. CRC
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E. input errors

Answer: DE

NEW QUESTION 10
Refer to the exhibit.

Arlantagpesnt T

Enter configuration commands, one per line. End with CNTL/Z.
Atlanta (config) #aaa new-model

Arlanta (config) fass anthenrication login defanlt local
Atlanta (config) #line vty 0 4

Atlanta(config-line)#login authentication default

Arlanta (config-line) faxit

Atlanta (config) fusername ciscoadmin password adminadminll)
Atlanta (config) fusernane ciscoadnin privilege 13

Arlants (canfig) fanabls passwerd clscslldl

Atlanta (config) fenable sscret testingllld4

Atlanta (config) fand

Which password must an engineer use to enter the enable mode?
A. adminadmin123

B. default

C. testing 1234

D. cisco123

Answer: C

NEW QUESTION 11

Which configuration is needed to generate an RSA key for SSH on a router?

A. Configure the version of SSH
B. Configure VTY access.

C. Create a user with a password.
D. Assign a DNS domain name

Answer: B

NEW QUESTION 12

An engineer must configure a/30 subnet between two routers. Which usable IP address and subnet mask combination meets this criteria?

interface «0/0
description to HQ-AJ37T1:10875
ip address 172.16.1.4 255.255.255.248

interface «0/0
description to HQ-AJ371:10975
ip address 10.2.1.3 255.255.2565.252

interface 0/0
description to HQ-A371:10875
ip address 192.168.1.1 255.255.255.248

interface &0/0
description to HQ-A371:10875
ip address 209.165.201.2 255.255.255.252

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 13
What is a benefit of using a Cisco Wireless LAN Controller?

A. Central AP management requires more complex configurations
B. Unique SSIDs cannot use the same authentication method

C. It supports autonomous and lightweight APs

D. It eliminates the need to configure each access point individually

Answer: D

NEW QUESTION 16
Which two encoding methods are supported by REST APIs? (Choose two)

A. YAML
B. JSON
C. EBCDIC
D. SGML
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E. XML

Answer: AE

NEW QUESTION 21
What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two)

A. when the sending device waits 15 seconds before sending the frame again
B. when the cable length limits are exceeded

C. when one side of the connection is configured for half-duplex

D. when Carner Sense Multiple Access/Collision Detection is used

E. when a collision occurs after the 32nd byte of a frame has been transmitted

Answer: CE

NEW QUESTION 23
Drag and drop the network protocols from the left onto the correct transport services on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Connection Onented
SMTP I l '
ETP |
——————————————— D o o o e e e e e e e e e e -
-
| SMTP i
________________ ]
i r —————————————— 1

TFTP |

_______________ | SNMP |
- - = - — - — =— _______ _-——- O — A — A — — A — —— -*

1 olp i
______________ = Connectioniess
_______________ o= == == == e o= m e e e em e e - g
| SSH I SSH I
——————————————— e oo o S S S S S S S S e s s s el
—————————————— I l_.__——____—_____1
| . . ,
—————————————— - 1 ... N,
-
| TFTP

NEW QUESTION 24
Refer to the exhibit.

R2#show ip nat translations

Pro Inside global Inside local Outside local Outside global
tep 172.23.104.3:43268 10.4.4.4:43268 172.23.103.10:23 172.23.103.10:23
tep 172.23.104.4:45507 10.4.4.5:45507 172.23.103.10:80 172.23.103.10:80

An engineer configured NAT translations and has verified that the configuration is correct. Which IP address is the source IP?
A.10.4.4.4

B.10.4.4.5

C.172.23.103.10

D. 172.23.104.4

Answer: C

NEW QUESTION 27
Refer to the exhibit.
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Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (ID)10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length O

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximum is 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor count is 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)

The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: A

NEW QUESTION 30

Which QoS Profile is selected in the GUI when configuring a voice over WLAN deployment?
A. Bronze

B. Platinum

C. Silver

D. Gold

Answer: B

NEW QUESTION 35
Refer to the exhibit.
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Il'\_ﬁ' ot

R2E<h run z o itar aent
- - |
router ospf 1

=5
S Tar
"\"ll-l—.-r'

v QS
og-adjacency-changes

auto-cost reference-bandwidth 10000
network 10.10.10.1 0.0.0.0 area

:'J -‘i
network 10.10.13.1 0.0.0.0 area

= = |

R2#&show ip route

Grrt-".‘.&r' of last re<ort is not set

10.0.0.0/8 is variably subnetted, 3 subnets, 3 masks

' 10.0/30 is directly connected

10.10.13.0/25 is directly connected, Vian20
13.144/28 is directly connected. Vian40

Rig<how

Gateway of last resornt

p route

5 NOL sel

 faBelala

10.0.0.0/8 is variably subnertted, 4 subnets, 3 masks

C 10.10.10.0/30 is directly connected, FastEthernet0/1

O 10.10.13.0/25 [110/6576] via 10.10.10.1, 01:37:03

C 10.10.10.16/20 is directly connected, FastEthernat(/24 |
O 10.10.13.144/28 [110/110] via 10.10.10.1, 01:37:03

R1i#sh run
router ospf 1

-
Fragr®ar 4 4 9 9 4
ouier-1g 1.1.1.1

og-adjacency-changes

aUuto-Cost reference

e-bandwiath 10000
network 10.10.10.2 0.0.0.0 area 0

default-information originate

An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from
the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/25?

A. Traffic to 10.10.13.0.25 is load balanced out of multiple interfaces

B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface Gi0/1.

C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D

NEW QUESTION 39
Which statement identifies the functionality of virtual machines?

A. Virtualized servers run most efficiently when they are physically connected to a switch that is separate from the hypervisor

B. The hypervisor can virtualize physical components including CP
C. memory, and storage

D. Each hypervisor can support a single virtual machine and a single software switch
E. The hypervisor communicates on Layer 3 without the need for additional resources

Answer: D

NEW QUESTION 40
Refer to the exhibit.
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T b 'r—r -
VLAN 20

Switch A

..l_" LTIV e
— o

VLAN 10

Web Server

IP address
10 30 0 100724

Switch B

Int VLAN 10 —p address 10 10 0 0724
Int VLAN 20 - ip address 10 20 0024
Int VLAN 30 - ip address 10.30 0024

A network engineer must block access for all computers on VLAN 20 to the web server via HTTP All other computers must be able to access the web server

Which configuration when applied to switch A accomplishes this task?

config t

ip acocess-list extended wwwblock
deny tcp any host 10.30.0.100 eg 80
int wvlan 10

ip access-group wWwwWwwblock in

config t

ip acoess-list extended wwwblock
deny tcp any host 10.30.0.100 eg 80
permit ip any any

int vlan 20

ip acoess-group wwwblock in

config t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eg 80
int vlan 30

ip access—-group wWwwwblock in

config t

ip access-list extended wwwblock
permit ip any any

deny tcp any host 10.30.0.100 eq 80
int wvlan 20

ip access-group wwwblock in

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 44

A user configured OSPF in a single area between two routers A serial interface connecting R1 and R2 is running encapsulation PPP By default which OSPF
network type is seen on this interface when the user types show ip ospf interface on R1 or R2?

A. port-to-multipoint
B. broadcast

C. point-to-point

D. nonbroadcast

Answer: C
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NEW QUESTION 48
An organization has decided to start using cloud-provided services. Which cloud service allows the organization to install its own operating system on a virtual
machine?

A. platform-as-a-service
B. software-as-a-service
C. network-as-a-service
D. infrastructure-as-a-service

Answer: D

NEW QUESTION 50
Refer to Exhibit.

_ Se0/0/1 2013 /126 Se0/0/1 .
G "-' ) —T - 9
LY 3 s
Alarta + Se0/0/0 Se0/00 / [::Jafm‘"“ '

Lo1

ez Static route to Lo1 on Atlanta via Se(/0/1
Defaut Rouwte /0 wa SeQ0)/1 '

’, 196
Sciiies Configured routers IPve addresses
Atianta

Senal 000/0 . 2012.1/126

2023 /126 Senal 0/0/1 . 20131126

Loopback1 2000:1/128

€000 2 5001011 hewone

Fi Senal 000 - 2012-2/126

oenal 001 - 202321126

New-York Loopback2 2000 2/128

Lo2 - Washington
Senal 00/0 ' 2023 3126

- i ™ - - -
Senal 00/1 - 20133126

Loopback3 2000 3/128

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta
goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::1 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 54
Refer to the exhibit.
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Router#

Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, | - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID

10.1.1.2 Gig37/3 176 RI CPT600 Gig36/41
10.1.1.2 Gig37/1 174 RI CPT 600 Gig36/43
10.1.1.2 Gig36/41 134 RI CPT600 Gig37/3
10.1.1.2 Gig36/43 134 RI CPT600 Gig37/1
10.1.1.2 Ten3/2 132 RI CPT600 Ten 4/2

10.1.1.2 Ten4/2 174 RI CPT600 Ten 3/2

Which command provides this output?

A. show ip route

B. show ip interface
C. show interface

D. show cdp neighbor

Answer: D
NEW QUESTION 56
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.
B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers

synchronize configurations to provide consistent packet forwarding
D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 59
Which 802.11 frame type is association response?

A. management
B. protected frame
C. control

D. action

Answer: B

NEW QUESTION 60
Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: DE

NEW QUESTION 65

Which result occurs when PortFast is enabled on an interface that is connected to another switch?
A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down

D. After spanning tree converges PortFast shuts down any port that receives BPDUSs.

Answer: A
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NEW QUESTION 67
What makes Cisco DNA Center different from traditional network management applications and their management of networks?

A. It only supports auto-discovery of network elements in a greenfield deployment.

B. It modular design allows someone to implement different versions to meet the specific needs of an organization
C. IT abstracts policy from the actual device configuration

D. It does not support high availability of management functions when operating in cluster mode

Answer: A

NEW QUESTION 70
Drag and drop the descriptions of file-transfer protocols from the left onto the correct protocols on the right.

FP

|
|
DrOVICRS Mealurly when Kaing N iUS mage upon DOOt ug |
L
goes NOL reQuers yser autnentcalon
|
r |
|
uses pot 69 |
ITETP
- | i
usesports 20 and 21 | |
= | |
i
ysse TCE |
L |
| |
uses UDP | '
|
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Fe '
£ s relahaty when aang an 105 mage upon oot ud ] -
it e RO Ty e g i prowides rehabialy when Nating an s mage upon DOot ul
L
goes Nok reguera year authentcabon ese parts 30 and 71 |
e W L S SN & -
: I
1 ‘
Jses TOF |
Usas DO oY
TFTP |
|
|
-.;::-- ::"'::- - 31"-": 4.: -:.:.:_.1. ot --i:_c._F.-.I; --.i"?‘ &J--l-“:_.-i- o g
' |
pees TCE uses 0ot 69 |
k 1 |
uses UDP uses UOP ‘

NEW QUESTION 71
Refer to the exhibit.
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What does router R1 use as its OSPF router-ID?

A.10.10.1.10
B. 10.10.10.20
C.172.16.15.10
D. 192.168.0.1

Answer: B

NEW QUESTION 73
Drag and drop the WLAN components from the left onto the correct descriptions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
5:1
1:2
2:4
4:3
35

NEW QUESTION 75
An engineer must configure a WLAN using the strongest encryption type for WPA2- PSK. Which cipher fulfills the configuration requirement?

A. WEP
B. RC4
C. AES
D. TKIP

Answer: D

NEW QUESTION 80
When configuring a WLAN with WPA2 PSK in the Cisco Wireless LAN Controller GUI, which two formats are available to select? (Choose two)

A. ASCII
B. base64
C. binary
D. decimal
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E. hexadecimal

Answer: AE

NEW QUESTION 85
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